THRBELIRES

[ £rk 26 &£ 8A 31 B IR ]

1THEX 17 Bl X 4 5 S it O ATEX T Bl X 4 5 S it it [ fTEX 1T EL X 4 5 LS 7t QLIRS
1/RER 77 89 166 55 201 | &7 ERED 388 407 795 307 316 |BHABEN 638 674 1,312 360
(0] 1) | ( 1) (—TH) 2) 2, 4 STH) 2, 2 4)
pALIN = 391 390 781 318 202| &7 R D 658 709 1,367 587 N7HAEEL 342 330 672 209
(. 2/C DlC 9 (ZTH) 1) 0) | ( 1) (LT H) 0 C 0 0)
3 HTH 78 84 162 54 203 |'& /7 AR 555 561 1,116 444 318 BHAEE) 0 0 0 0
(Ol ool 0 (ZTH) 2) 49 ( 6 (}\T H) 0 C 0 0)
40T 369 439 808 349 204 | & /7 FAbER 478 498 976 403 321 | HEE— 224 225 449 129
(O ool 0 (MTH) 0) 2, C 2 (—T H1~4%Hh) 1) | ( 1) 2)
5— /4 63 57 120 31 211 |k 414 418 832 335 322| X HEE— 236 258 494 145
(O ool 0 (—TH) 0) 1) ( 1) (CT B4R 2, 2 4)
6| —/F4 86 85 171 50 212 |k 228 257 485 188 323 | HEE— 677 680 1,357 399
(0] 1) | ( 1) (ZTH) 0) 0/ C 0 (SRNEES ")) 2 C 3 5)
7= B4 163 176 339 127 213 |kt 286 258 544 197 324 | HEE 414 413 827 301
(O ool 0 (=TH) 0) 0/ C 0 (04T H1~17FH) 0) | ( 1) 1)
8|EFH 155 157 312 105 214 |k 380 389 769 312 325 | HEE — 661 697 1,358 411
(0] 1) | ( 1) (MTH) 0) 1) ( 1) (BT B4 0/ C 0 0)
9| g H 53 45 98 30 221 | BT DOY—TH 571 604 1,175 428 326 | HE— 339 386 725 213
(0] 1) | ( 1) 0) 2 C 2 ST H1~17%H) 0 C 2 2)
105 62 56 118 36 222 | BHITOY T H 688 676 1,364 507 327 | HEE = 881 918 1,799 525
(0|l oo/ 0 1) 2, C 3 (ET H A% 0 /C 0 0)
11| K% 43 44 87 24 223|BHITOY=TH 833 830 1,663 616 328 |k M = 224 233 457 156
(O ool 0 1) 0/ C 1 O\T H48) 0 C 0 0)
12|55~ 96 83 179 52 231|HEE—TH 612 636 1,248 454 329|pk M = 7 5 12 7
(0] 1) | ( 1) 0) 0. C 0 LT B4 0 C 0 0)
13 K& 43 49 92 23 232|lHEE-TH 799 856 1,655 595 331 | HEE 8 36 44 42
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (—T H5~8%H) 0) | ( 0) 0)
14 4 FH 81 81 162 45 233/ HEE=TH 361 380 741 266 334 | HEE = 483 480 963 350
(O ool 0 0) N C 1N (U T H18~28% 1) 2  6) 8)
15/8A 95 77 172 50 241 | TG — 449 463 912 281 336 | HEE — 463 472 935 272
(O ool 0 0) 2 C 2 (ST H18~35%H1) 2) | ( 1) 3)
16|75 5 H 107 119 226 64 242 |1 T5HE — 519 532 1,051 305 401| ERAA—TH 833 889 1,722 527
(0] 1) | ( 1) 4) I C D 4) (3 7
20 i KA 284 274 558 194 301 [ RAGEH— 441 484 925 365 402 ERARTTH 0 0 0 0
( 0) | ( 0) | ( 0) (—TH) 0) 0) | ( 0) 0) | ( 0) 0)
101 | K75 341 356 697 268 302 | KA EHE— 416 464 880 357 411\ KiGAK—TH 732 744 1,476 424
(—TH) ( 1) | ( NniC 2 (ZTH) 1) 3 4 6) (3 9)
102 | K74 276 282 558 210 303 HGH = 548 587 1,135 444 412 KGR —TH 378 389 767 232
(ZTH) (0] 1) | ( 1) 0) H C 1N N C 0 1)
111 O&hE—TH 835 847 1,682 649 304 AGE Y =— 1Y 166 188 354 162
( 3) | ( 3) | ( 6) 0) 2) | ( 2)
M2/ 0&0E_TH 478 463 941 383 3N |HAEHE— 576 612 1,188 411
(O ool 0 (—TH) 0) 1) ( 1)
12117 —2 bl 256 244 500 162 32\BHABE 468 511 979 320
(O ool 0 (ZTH) 0) )N )
140/ L HDR 228 219 447 167 NI FAEE= 648 667 1,315 410
(—TH) ( 1) | ( NniC 2 (ZTH) 1) 2, C 3
141 | HOR 46 58 104 40 M4 BHAEE= 199 205 404 142
(—TH) (O ool 0 (WTH) 3) 0, C 3
142\ L H0R 330 351 681 257 5\ HAREL 1,068 1,040 2,108 683
(ZTH) (. 2/ 8| 8 (P_EITH T H) 0) 1) | ( 1)
() PIISNE A THYRER, (H24. 750) [ & ] B 25325 A % 26,186 A i 51511 A 17,964 tH=
KITV—=vid, OLE—T BATBIXICE EH05, HBNCEFL TET, ( 47N) ( 84N) ( 131.A0)
SR IR 13, BT FATEIRIC & £ 508, FRNCER L COET, (RIARI] B 25316 A & 26165 A B 51481 A 17,940 fiti
[#& &) B2 9 A Z 21 A 30 A 24 tHF
( -1A) ( 2.N) ( 1A)




